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Psdll HIIE8E =2 150,000& =13l 150
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Al 300,000
401 A& HI L 2Bl 600,000 0 600,000
< 300,000
Al 300,000
01 Al&HI 600,000 0 600,000
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OZBIMSHE CCTV &H HEIA
60,000, 00021 * 14} 60,000
< 30,000
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3,300& x100& ~12& 3,960
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O gtz 528
DAEI AUZE 22,000 20 x128 528
02 8323l 172,495
O1 3322 ¥ MA 118,410
PUERLRES 1,900, 000& *12] 1,900
>HEIRS 9,000,000& x12& 108,000
D& -Gt AES 690,000& *12& 8,280
DIOIABHAHAEEZ 50,0003 *13| 50
DAYOHMEZH (FES A2
60,0003 *13| 60
Dot MEIHI (XL S2)
120,000& * 13| 120
O2 A=l 54,085
DRSS E kg A2 HI(ZAIIEA)
41,658,000 =14 41,658
DILMS HAs AZH(AUSR) 12,427
0ZJ&E 237
799R x184 *2CH*6A| 2t+72L 12,427
405 TtobH S| 14,540
01 XL = ZFH SHI 14,540
OXYHs2 HHEES DRHE P
13,000, 0003 %14 13,000
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OFFX=(0184!) 770,000 *2H 1,540
XNAHMESZALRIANE S 80,635 142,945 262,310
201 L2l 50,127 49,927 200
01 At 22l 22,931 23,919 A 088
O1 Let==EH| 22,931
>R FIILH HIIEAN 448
1,200,000& *12] 1,200
DAAHAIIN(2+E22) M =28
100, 000& 12l 100
DEFINA AASAE FIZA =8
300,000& =13l 300
DAgHY otd2e HES(XLHSH)
410,000& 123 4,920
PRI FIILH EBE HHEB(SELY
900KW , Ef 2t 2+ M A H| 25kw) 12,711
1,059,200& »12&
D& HFIZAM =2 100,000& 13 100
DSEA HUES L HAES(SHELY 104
2) 300,000& 128 3,600
02 232gHl 27,196 26,008 1,188
O3 A& ZHl s Xl 27,196
DM A 11,000& 102 & *23| 2,244
DYALS 50& *7,056m" 53] 1,764
>ERI1I] M2t 10,000
O &4 KLIE(320RT) 6,000,000 14 6,000
o242 (0.35MW) 4,000,000& =14 4,000
DIOIAHA JIAZBH S 2(2LHEZ 2 95
) 300,000& 103 3,000
DHHHI B 2+ 250,000& =4 H 1,000
DM S, A58 AL+
2,000,000& x14 2,000
DEXELEH S+ 2,000,000 » 14l 2,000
>24% EHOID] REBR, HBU, YSSHHY|
22+ 3,000,000 » 14l 3,000
D& o™ X2 SA(1H)
2,188,000 » 14! 2,188
206 M= Hl 5,108 5,018 90
01 =8l 5,108 5,018 90
O&I,Sal, A2 J1H M=Hl S
3,000,000 =14l 3,000
O3=xJ| 0Is2H 46,0003 x 184 828
O3xJ Z2lZ2H 35,000& 34K 1,190
OFFUE(ZIE) 45,0003 *2H 90
401 Al BIZ 201 8] 25,400 88,000 A 62,600
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01 A& HI 25,400 88,000 A 62,600
OXYgMs2 NE28 E-ZA(HE,IH, B
g) 20,000,000& =14l 20,000
OXsMs2 A= ¥
5,400,000 14| 5,400
dzd2el 163,151 145,598 17,553
LI TAIE2F 2 46,879 71,778 A24,899
201 LEr2A | 46,879 43,616 3,263
01 Ar2 22l bl 3,148 0 3,148
O1 Let==ZH| 2,188
DESE El 500,000& *2CH * 13 1,000
DABIGIEZH B3 Y U 42
40,000, 000& *2.97/100 1,188
O5 =&l 960
DO - 5222 8,000 «121x103] «12& 960
02 2324gHl 43,731 43,616 115
O1 3322 ¥ HA 42,900
>S4l 40,000& 10 =122 480
PHEIRS 3,500,000 «12& 42,000
>Xot=01E2E 3 30,000& =122 360
D et=AotM H 2|l 60,000& * 12| 60
02 A=l 831
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1,297 3«40 4 Al 2H+40 831
YZZANLRX RS 116,272 73,820 42,452
201 Let24E] 26,432 26,630 A 198
01 Al 2+2/H 16,104 20,678 N4,574
O1 Ler==&H| 13,904
DR L HEEIS(SHEA 6IHL)
150,000& 128 1,800
DM BEHSSE(100£ )
3,300 x50& * 12 1,980
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1,690 +x70& <123 1,420
DXJHE &I rd e (=ML
500kW) 407,000& x12& 4,884
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1,100, 000& * 13| 1,100
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4,376,000 « 1Al 4,376
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OSsgHl & 55,000& 50 2,750
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8,500,000 =14l 8,500
405 RHo&HFE S HI 20,000 5,100 14,900
01 XAt 2 E F S| 20,000 5,100 14,900
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20,000,000 = 1CH 20,000
=0 sSHEHSH 1,353,480 1,485,286 A 131,806
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O5 2 &l 2,880
DOt - 5422 8,000& x321%103| x12& 2,880
O6 itz 6,000
DAL LU= 25,000& =100 =12& 3,000
>HIM dtE 25,0003 =100 =12& 3,000
02 3524t 770,320 723,760 46,560
O1 2222 % HA 605,200
Dega, EAN JIEEHE LENFHR2
10,000& *13| &H =128 120
>DEIR=S 20,000,000& x12& 240,000
DAl ER2 30,000,000 12 360,000
PHNsSRYEeRHES 2,000,000& *13| 2,000
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DRAYYS 2N Z 20,000& x12& 240
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02 3323l 410,996 402,838 8,158
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5,000,000 =14 5,000
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01 =8l 34,450 33,450 1,000
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6,600,000& » 14! 6,600
JIEFNHI S Al & 2el 180,510 219,600 A 39,090
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DEIQS(U2H=2 2 60HA)
1,700,000& 1228 20,400
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DAH=Z HA(020l =033 220) 25,080
OHtY 2= 11,000 x25E +83| x6 A 13,200
oOHd 2= 11,0003 x45&E »43| x6 & 11,880




CHISAEAMSA
CHEAME 282l

CHESE 2

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
206 M= Hl 3,040 7,900 A 4,860
01 =8l 3,040 7,900 A 4,860
O&EIl,Sa, A8 I MEHl &
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02 =224l 161,012 154,676 6,336
o1 222 ¥ 60,440
DANYSANZE 100,000& =122 1,200
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2,000,000& » 14 2,000
O&Jl, sS4, A8 J1H s M=
2,000,000& » 14! 2,000
Ox=dd= o I3 50,000& =404 2,000
OHMIEe LED SI1+ 2,000,000& =14 2,000
401 A& HIZ 201 8] 20,000 20,000 0
01 A& HI 20,000 20,000 0
OstaMsHEH AE8 FXEx(2A2, 1A
B 8) 20,000,000 » 14! 20,000
delEXNSs22Y 204,176 398,656 A 194,480
A EXMSs2 2l 69,924 69,924 0
201 €24l 69,924 69,924 0
01 At 22l 2,400 2,400 0
O1 get==2Hl 2,400
>EIE 2= 200,000& 122 2,400
02 =224l 67,524 67,524 0
O1 3323 ¥ HMA 67,524
>HEIIRS 4,300,000& +12& 51,600
D> ESCOAL S & &3 1,227,000 «12& 14,724
PUSRLRES 1,200,000& *12] 1,200




A MEAEAML L
g HMSAME 2822

el ARAEHSBRSY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ABelEMSZHANLERNES 134,252 328,732 A 194,480
201 £B-2d| 115,252 24,732 90,520
01 At 22l 21,882 22,732 A 850
O1 get==&Hl 21,882
DURIEMSS £ FSYZE FLEZ(3E
A 2 258) 8,000,000 » 14l 8,000
DUZIEMS2 2 HI3AFH LIS E(10
0£ ) 3,300 80 ~ 128 3,168
DESI ZHRAM(EA dXMel, &Ml 2H
2L WYl ZE) 800,000& =14 800
DXJHE I8 M HHAZ (=ML
400kw) 330,000& =122 3,960
DAgAY erdae| H#Z  180,000& «12& 2,160
DAItE &I BIIEA =8
1,000, 000& *12] 1,000
D2l EIFA =2 150, 000& 14! 150
D& o™ X 2eSA (1)
2,644,000 » 14! 2,644
02 =224l 93,370 2,000 91,370
O3 A& & Hls X bl 93,370
DUCIEMS2 oo, MEYI A2+
2,000,000& x14! 2,000
DYALS 50& *3,000m" 53] 750
DHsZEL 11,000& x50 & 23] 1,100
DUCIEMS2 HSAZEY (ST A2MHEE)H
L2829 89,520,000 » 14 89,520
206 = Hl 9,000 4,000 5,000
01 MHZ 4l 9,000 4,000 5,000
O&Il, sS4, 48 JIH MEHl S
2,000,000 » 14! 2,000
O SEAMN ¢ 5,000,000& » 14! 5,000
Ox=ddE & 2AMI|R 50,000& *30& 1,500
Oz & £2¢=2 HHEHEX 50,000& =104 500
401 AIEHI L 20 10,000 300,000 290,000
01 A& HI 10,000 300,000 290,000
OUREHSH ALE RN2H(AE I
o 8) 10,000, 000& * 14 10,000
EEESEMs 22 924,660 795,867 128,793
F=ESEHs2Z I 2 404,849 443,410 A 38,561
201 et 404,849 443,410 A 38,561
01 At 22l I 3,984 3,984 0
O1 et24l 2,400
DEMN2I+=EH 200,000& »12& 2,400




A MEAEAML L
g HMSAME 2822

e FFEEMs22C (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o6 gtz 1,584
DED ZUZE 41,0003 2CH«123 984
IO 2= 25,0003 x2CHx12& 600
02 2524l 400,865 439,426 A 38,561
O1 3322 ¢ HA 268,390
PUESRLRES 4,000,000& *13] 4,000
>HEIIRS 19,000,000& =128 228,000
Daot=ER3 3,000,000& x12& 36,000
DOAHHAMUABE S 50,000& x13] 50
Det=2dME )| EIH(ZEHUNEH)
100, 000& 12/ 100
DAYOIMESH ¥ St g3l
gl 120,000& 12/ 120
> st=g el AHE 3l bl 120,000& * 13| 120
O2 ¢zl 132,475
DESMSE Ao AZHI (T AIDEA)
131,826,000 = 14! 131,826
DHAE LI (700KN) - 2=
1,297& %5004 =13l 649
AFEEMSZANERINE S 519,811 352,457 167,354
201 2yt 2 Y| 455,731 288,727 167,004
01 At 22l 40,043 30,743 9,300
O1 ¢t=EHl 40,043
DIZAUAM L HAEF(SFEX 2 15F)
500,000& =122 6,000

DM BHHMSE(1002 )
3,300 x100& 12 3,960

DM BHHMSE (504 )

1,690 x90 & x 12 1,826
DHAWHAIIN(2+E2) M =28
150,000& »2CH »22 600
DEFINA AEAME FISAM =2
270,000& * 12l 270
Dagtddl et =
1,060,000 «12& 12,720
DER2EH HIIZ A 222 (32.5kw)
200,000& * 12l 200
D& EIEAM =2 150,000& »2CH 300
DAJtE dI|&H eh™ T EH
9,000,000& 12/ 9,000
D& o™ |28 (2i)
5,167,000 14 5,167
02 B32gl 415,688 257,984 157,704
O3 A€ &HI=Xlbl 415,688
DMsZX A 11,0003 »464 & *23| 10,208




CHISAEAMSA
CHEAME 282l

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
D=l A= 50! +7,678mM x53| 1,920
D W2ter A A 300,000 *x6LH *x23] 3,600
DatsEAd A2 2,100,000 =2CH 4,200
DUWHRLES| E M2 (400RT*2)
4,700,000 «2CH 9,400
>XIGHHIE &8 HA 1,200, 000& = 14! 1,200
DEEMEE AMAEEEI KX
15,000,000& = 1Al 15,000
DRAFEZSHS2 SoHEe igel A
4,000,000 » 1A 4,000
D24 B0 2ESY, T BtESE Al EY|
HAE 3,000,000 =14l 3,000
DASHOHAAE SXE= (G22I HH,E2H
Mo 2 2&) 10,000, 000& = 1Al 10,000
DUEXNIEH L CCTVEHl |XIE4=(CCTVIH
Ol 2000H ,, =&t &H| 2 3F) 10,000
10,000,000 « 1Al
DESEHES SE2sE LA B4
=208 3iA2d 343,160,000 = 1Al 343,160
206 M = H| 18,480 18,480 0
01 X2 H| 18,480 18,480 0
O&EI|, S8, A8 JH MEHl S
2,500,000 =14l 2,500
OFZN &2 AZ2(BELHE) 190,000& ~12& 2,280
Od, et sXI&el Ml 2,000,000 =14l 2,000
OZ2XANE & QMAH|(HE 2 5F)
1,000,000 = 14! 1,000
QU E(=s7) 100, 000& *7& 700
O&X)| 0l&s2H 2 23 10,000,000& = 1Al 10,000
401 Al HI L 204 HI 35,000 41,000 A 6,000
01 Al&H| 35,000 41,000 A 6,000
OFZeHES2 NES SXNES(HS,IH,
&I 5) 35,000,000& = 14! 35,000
405 XHA&HF S HI 10,600 4,250 6,350
01 XML 2 FF S| 10,600 4,250 6,350
OF=ZeHs2 HEES DR2ME ¢
10,000,000& » 1Al 10,000
OZglH 600,000 =1 CH 600
dHsa2dg 634,086 767,838 N 133,752
cansa ze 327,639 464,069 136,430
201 B9 323,799 333,488 N9,689
01 AP 2t 2| H| 24,320 24,080 240
O1 detf=2H| 17,700
DEMNSI+EH| 100,000& 12& 1,200




M MEAELAL

A HgAL 2w

ool caNs2ey (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
DAMEIICEZN &EF 2 IUE =2
25,000,000& *2.8/100*12& 8,400
>DOglH &l 300, 000& x4 =20 2,400
DOIECtUHE HMAE(FE, e S)
4,800,000 14! 4,800
PDEMPUII=EAM 2 3EF) 200,000 <23 400
DedE IZES 500,000 1Al 500
O4 12| 400
DOIAHA 22X 100, 000& *201 x235] 400
O5 = &t 1,920
>or2t, 59422 8,000 x221x103| x12& 1,920
O6 Xtz 4,300
>DESI LUz 3,100,000& » 14! 3,100
>Hd gtz 25,000 *4CH x12& 1,200
02 332494l 299,479 309, 408 N9,929
O1 2222 < HMHA 226,830
>PEIRS 126,000, 000& 1Al 126,000
DAMSIERS 8,000,000& x12& 96,000
MR =g =T = 2,000,000 13| 2,000
DHIAAIDEE 2E=2 100,000& *10& 1,000
DEZHNE NS =42 100,000& x12& 1,200
DROHU AIES 40,000& x12& 480
DOIAHHAMMABE S = 50,000& *13] 50
D> ABOLAE 3| 100, 000& *13] 100
02 dZH| 72,649
DA e Y 24 (S AIDEA)
72,285,000 =14 72,285
> g & I (300kw) 1,212 %3004 *13| 364
202 044l 3,840 3,840 0
01 2LHOHI 3,840 3,840 0
Ocdgisa gR=A 320,000& 128 3,840
CEMSHANLARIE > 306,447 303,769 2,678
201 Bt A H| 241,727 239,969 1,758
01 At 22/ 34,809 39,919 A5,110
O1 etx=2H| 34,809
PN HAZSE(FEXN 2 265)
1,500,000& ~12& 18,000
D>MYD| SHHESE(1002 )
3,300& x15&«12& 594
>MYD| SHMESE(50L )
1,690 15& 128 305
DAJIE MI|&H ot e S (=84
600kw/HI A 2H& I 300kw) 900,000& x12& 10,800




A MEAMEA
g HMSAME 2822

=

A

el CEMSs2A2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DAYAEY otMEY HelE 330,000 «12E 3,960
>&s2Il HIZEA =2 150, 000& *2CH 300
DEFNAAEANE FINEE =2
350,000& =13l 350
DEAMUHAIDIN (2L BA==T)
250,000& *2CH *13] 500
02 =224l 206,918 200,050 6,868
O3 Al ZHls Xt 206,918
DHAALS 440,000 123 5,280
DM EA 11,000& * 190 E »23| 4,180
DEIJIEH WM ¥ 22 1,000,000 ~2CH 2,000
D& ddlztal 10,000, 000& * 14! 10,000
DAEEYe ¥ SwEI M2
2,000,000 »2CH 4,000
PESSABUNAY SXEH
15,000, 000& 14! 15,000
DT AAMAE SAES
5,000,000& =14l 5,000
DAgZe/AAE RSAES(SIEEZ 2 38)
10,000, 000& 14! 10,000
DUASHOAHAMAY SXE22 5,000,000 14 5,000
DEAIAEYH A (HLHA 2 205)
300,000& 108 3,000
DS FASA(+9E XLE
138,348,000& 14 138,348
D& o™ A 2elsA(20)
5,110,000& x 14! 5,110
206 = Hl 23,000 23,800 A 800
01 MHZ 4l 23,000 23,800 A 800
Ox=gZ 2&H 200,000& 122 2,400
O=dg% =xHel& &3 500,000 x12& 6,000
OEgd 2 100,000& =122 1,200
OZALMEX A2F 7,000,000& » 14 7,000
O2=, &I, JIH, S8, 28 S(F&ZI 8
208) 200,000& 203 4,000
OGSOl (AP & HIXIE) 50,0002 «8H 400
OMHIl & B3 20,000& 504 1,000
O+9% ABLC S 2+ASE
1,000, 000& 14! 1,000
401 Al HIZ 201 Y] 35,000 37,000 A 2,000
01 A& HI 35,000 37,000 A2,000
OEEMs2 N2 RNE= (A=, JIAH, &
a1 s) 35,000,000& =14 35,000
405 XHoHF S HI 6,720 3,000 3,720




M HEAIEA
M HMESAE 222
e CEHS22Y (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 XY 2 ZFH S| 6,720 3,000 3,720
O8AIR(48) 4,000,000& =14 4,000
Ox=g& &= 150, 000& *6CH 900
OdZJI(go4d ¢ 8AH) 80,000 «6CH 480
OUg &SIl 170,000& »2CH 340
OdAZ ZOL A= 20,000+50H4 1,000
SIS 2e 50,330 0 50,330
sI3AHsHN2g 22 50,330 0 50,330
201 LBH2EH| 30,530 0 30,530
01 At 2t 2l 13,850 0 13,850
O1 g2t 11,330
DESE El 500, 000& *13| 500
DABIE BHAY NUE 242
60,000, 000& *2.97/100 1,782
DOotE MZE (82 N S)
400,000& *23| 800
PESAS 150,000 » 14l x23| 300
DatEX L HEEIS(SHEABMNL)
150,000& = 12& 1,800
DAY BEM S=(100£ )
3,3003 *x80& 128 3,168
DAY BEM S=(504 )
1,690&+70& «12& 1,420
DRJNE FOIMH otEBR HEB(SHBY
129kw) 130,000& 128 1,560
O5 =&l 1,920
DOt 522 R 8,000& *221%103| x12& 1,920
O g4tz 600
PEI ZUZE 25,0003 »2CH*12& 600
02 =224l 16,680 0 16,680
O1 3322 % HMA 16,680
>EIRS 1,200,000& = 12& 14,400
DER3 150,000& 128 1,800
> &4l 40,0003 =122 480
206 M=l 5,800 0 5,800
01 =8l 5,800 0 5,800
O&Il, sS4, 48 J1H MEHl &
3,000,000& x 14 3,000
O=78Y ZF4BY,ZIUE S
400,000& +7 & 2,800
401 AIEHIZ 28I 14,000 0 14,000
01 A& HI 14,000 0 14,000
O=sXZel(H=x) 300& *15,000m" 23] 9,000




RS AE A Y
B, HSAE 2D
9 BAMS AL

SA-HB .Y (BH) - MBPAY - B2 il 2
ONEZE R+ 5,000,000& x 14! 5,000
TAH=RZE 27,330 0 27,330
MEAMESA2Z 22 27,330 0 27,330
201 et A | 17,930 0 17,930
01 AFR 2t 2l Yl 3,350 0 3,350
O1 gBt=2H| 2,090
DIZ2EH EY 500,000& *13] 500
PABIE BHAY HUE £42
35,000,000 *2.97/100 1,040
DOotLIE ME(s48, U S)
200,000& *23| 400
>PES=US 150,000& * 14! 150
O5 = &l 960
>of2t, 522 8,000& x121%x105| x12& 960
O6 Xtz 300
DAL U2 25,000& *1CH*x123] 300
02 33294l 14,580 0 14,580
O1 222=2 % HA 13,080
>DEINRS 1,000,000& x12& 12,000
P =1 50,000& x12& 600
>S4l 40,000& x12& 480
O3 A& &Hl s Xl 1,500
DAIEZH SXH (I, SH2)
1,500,000 * 14 1,500
206 M = Hl 1,400 0 1,400
01 M= bl 1,400 0 1,400
O&EI|,E4, A48 JIH MEH S
1,000,000 * 14 1,000
Os+7=% ¢ EFUE 400,000& 1= 400
401 Al HI L 2T 8,000 0 8,000
01 A& HI 8,000 0 8,000
OsXZel(M==¢g) 300& *5,000m *23] 3,000
ONEEFXE=S 5,000,000& * 14 5,000
HE 2 FY| 444 712 268, 143 176,569
OlE2HH(MSAEAIEA) 329,062 164,677 164,385
IESAY| (M SAIEAIE A) 329,062 164,677 164,385
101 2124 d| 329,062 164,677 164,385
01 24 125,439 114,053 11,386
OAZ2AZ222Y 10,0033 *1821 *300A| 2t 54,017
OfgI2e (20, s80,=28) 71,422
D>AIZIRIZR S 10,003& x721*960 Al 2+ 67,221




A MSAEAY A
BE: HYSYAY
el U (MSAZEAE L) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Dot R 3,334 x721 x180 Al 2t 4,201
02 JIEt& B = 61,484 50,624 10,860
OAZA22Y 10,003 & %1421 x300A| 2t 42,013
oozt 4= 3,334 #4201 +BA| 2t+3652 *1/2 19,471
03 RIAHAZ2Z2RHE > 142,139 0 142,139
OEIZ2SH(AFLZ2E) 3,620
DEASAMA(AE2)
12,0663 * 121 x300A| 2t 3,620
OodzaZz+(2UMSHH) 63,045
> M= X <Xt 13,9723 x1021 x300A| 2t 41,916
DEASAMA(AE2)
12,0663 221 x300A| 2t 7,240
DS TR (HE) 11,5743 421 x300 Al 2t 13,889
O (sUMs4H) 23,712
> M= X <Xt 13,9723 %421 x300 Al 2t 16,767
DS TRA(E) 11,5743 %201 %300 A 2+ 6,945
QoEIZZ2g(EHMSs) 51,762
x| E= DRSPS 13,9723 9021 x300Al 2+ 37,725
DS IS AR (A& 2el)
12,0663 * 121 300 Al 2+ 3,620
DS TR (HE) 11,5743 321 x300A| 2t 10,417
JI2ZH(MSAIEAIE &) 115,650 103, 466 12,184
JI2ZHI(MSAIEAE ) 115,650 103,466 12,184
201 2et24d] 89,610 87,666 1,944
01 At 22l 32,080 30,136 1,944
O1 gt=2Hl 22,600
PEMA2ZE =EH| 1,000,000& »12& 12,000
>2HE 0l8sx2 200,000 x33| 600
DIERMA 2HFEI) =2 (BE2SE 2 3
JHA) 10,000, 000& 14! 10,000
O2 sl 840
DAgOrE 2| At WE 160, 000& *32! 480
D&EIIotE 2|t WF 120,000& »32! 360
O5 =&l 8,640
DOt - 522 R 8,000 #1501 x63| x 128 8,640
02 2324l 57,530 57,530 0
O1 22322 % HA 55,480
DRERS 500,000 » 14l 500
DEIIIXIA(HE A 20H)
520,000,000& *10/100 52,000
DASIMN B8z, 838 2d3
2,500,000 » 14! 2,500




2N HSALAYL
Ha: Y2 YA

©el: 220 (MSAEAEA) CEER-E))

SN SAGEA) - MRALY - BES 0l &t o

=

M
2Hm
==
£l
Ol
0y

DSIN(HIASEER) 6L H3R3

40,000& 128 480
O4 xtgd el 2,050
PEAE =X 3,416,000 =1CH =60/ 100 2,050

202 O Hl 15,440 10,560 4,880

01 =LHOIHI 15,440 10,560 4,880
OJlzge==d0 1,120,000 x 128 13,440

OMSAE R 22008l

2,000,000% * 14 2,000

203 ¥R =&l 10,600 5,240 5,360

02 3 Jtatg R =&H| 3,040 1,040 2,000
OFA I E =TI 40,0003 =762 3,040

04 EAEEY IR 7,560 4,200 3,360
ORNMSIYRFLH 630,000& »12& 7,560




